10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36

WATEL=7
BARVZT
MR =7

3

RRRV=7

(T

=

NAES=7
EtRI=7
AL =7
SWVERIZT
AES =7
[ ety
tR =7
SLHHL=T
INEIO =T
[=P=vg
51 D rg
FHEY=7
Z2ILEM =7
EAEIL=T
HEEL =T
FRRAmI=7
FEH®EYZ7
Ef=7
=7
=@=7
BH=7
HERSZT
FHEL=T

nmge =7

2023 LB R XX B F A RRTEHR
EARTIRRI— I RFEEXRE

75 s

W gt
12.2/26. 1|11
L 7
{1.2/19. 2|8
SEFD 11
16, 3/5, 52 |12
tEFEAR |1
13.2/19. =516
AE 2 e
48.3/12. %23 RIRE
IrEky |4
{4.2/19. &1]0
SEFD 13
- £7.3/5. %1 |5
ImaEkis |/
*f5\2/26\§§1|14
KHEEAER |2
3/19. %1 |4
IEAEKS (8
02.2/26, 11
EXR 9
01, 2/19. &1]20
=Lv=Fm |0
- 06, 3/5, &2 |8
TETE |1
03, 2/19. =2|14
AE 5
08, 3/12. &1 |1
TEHRE 3 e
04, 2/19. &=2|18 s BRR
Ef0 8
na7.3/5, %1 (8
LEFEAH |5
05, 2/26, 25
=48 9
3/21. %2 |5__
it/ T K]
N, 2/26. 2|10
THTE |9
INT.3/5, %1 |2
TERmE |7
/N4, 2/19, E2|4
FHE |3 o
N8, 3/12, ®2[13 BIR
ptl! 6
N3, 2/19. 14
x2 |5
/N6, 3/5, %1 |7
es il 4
7. 2719, =11
E0 12
IN2.2/26, 2|6
P 7
3/19.%2 |1
IEAEKIS (8
=5.2/26. =113
=i 13
=7.3/5.%1 |4
x| 0
=7.2/19. 1|1
FH=E |8
=8.3/12. &1|2
| T e g 1
=3.2/19. B2]10 = BR
aLV=Fm |5
- =6.3/5. %2 |4
S LEEkE |1 SLIR TE B
—1. ] BE NS, —
x= __[T6 n BEAL=7 Te21 E |16
_2\27@2?\%1 g mLmp g MEAE [0



18

28

12
22
36
24

10
20
14

30
27
32

13

34
23
17
26
31
11

16
25
33

35
19

MEE T
o7 )iay=y

12 HRXI=T
5 =@ =7

A3 HFATEHL =7
0 SWNV=FERY =7

AV TP 0| A=ty 4

Z6 EFH =T
N8 FRMAY =7
A7 WMk =7
A2 E2xtR=7
/N5 FHYZTY
a3 Eas =7
11 ®=7
A HERVZT
N6 BRI =T
=8 @ =7
A8 M =T
n6 Aigs =7
14 ERLZT
il =1 D ey
INS FEES =T
a5 J\#@e =7
N2 ERMIVZT
ST FREL=T
ag jEMmy =7
16 AZELZT
04 S\CHEHZ7
/N FHRYZT
T3 KERVZT
A5 A =T
Z2KEVZT

INT ATHRY =T

3/12. 82 |3
ExXR 6
3/5.%2 |4
P 8
3/19. 81 |1
‘ £ 10
2/26. =1 |19
THMmE |4
3/5.%2 |3
| 6 P
22 3/12. 81 |7 HoRE
£ 57 8 3/21. %81 |4
=% 5
3/12. %1 |3
ELR 8
3/5. %21 |4
ELR 3
3/19. 81 |2
‘ o1 4
2/26. %2 |5
=tHR 1
3/5.%2 |4
E 0 .
A 3/12. 81 |1 HofE
il 8 3/21. %1 |7
Ml 10
3/21. 82 |8
3/12. %2 1£5 2
= 8 . 5
EXR 21
2/26, %2 |4
HKHEHNE
3/19. %2 [4
£ 3
3/5.%1 |2
EFD 9
3/12.%2 |0
15 6
3/21. %2 |6
3/12. %2 |5 > J1T R |
g 6 .
5. %2 |1 il FRRK
HURR—Y |2
2/26. 52 |1
K= 8
3/19.%2 |5
o1 10
3/5. &1 1
S RAR—Y |2
3/12. %1 |5
= 9




